t32_ordinall
(TMcC3Cnj9zjWUMrevJ5DjbCagHhewHDMTpM)

October 27, 2020

Let rl_tarskt : t=t=>0 be given. Let vl_relat.l1 : t=>0 be given. Let
vb_relat_1 : t=>1=0 be given. Let vl_funct_1 : t==>0 be given. Let v5_ordinall :
t=0 be given. Assume the following.

VX0.VX1.(rltarski X0 X1)=(VX2.((vlrelat_1 (1)
X2)A(vb_relat-1 X2 X0))=(v5_relat_1 X2 X1))

Theorem 1

VX0.VX1.(rltarski X0 X1)=(VX2.((vl-relat_1
X2)A((vb-relat-l X2 XO0)A((v1_funct-1 X2)A(v5_ordinall X2))))=
((vl_relat-l X2)A((v5relat-1 X2 X1)A((vl-funct-1 X2)A(vb_ordinall

X2)))))



